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1. Unyt jutntwlwupgp vwhdwinid £ «Ugunnpujub Ypinghnwynpdwt dwuhi»
Zujuunwth Zwbipuwytwnnipjub opkpny (wyjunithtn® Opkup) vwhdwdws ntyptpnid
Zujuunnwth Zwbpuybnnipjub nwpwspnid gnpénn pultph, onwpbplpu
puttiph dwubtwdnintph, Juplujhtt juquuljtpuynipniuttph b gpujunikph
ynnuhg Ypinhnwynpdwt gquydwbhwgpnid, gnugnnid, hwynmwpupnipniond,
wnwownplnid, opipnnuynid Jud optpnnu wuknt hpwdbpnud thpundw Eupulju
nwpbkijuwl huunwugh mnnuwunpnyph hwydupuw pugunpnipniuttp b
ophtiwaljukip:
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2. Unyju jubintwjupgnid oqunugnpdynn hhdttwljut hwuljugnipinibubpt k.

2.1. <Upbnhnh dupdwih nnnjus Jdupbtp»” jptinhnh unugdwt b(jud)
gnpénnnipjul pupugpnid uyunnnh Ynnudhg Ypinhnuwynpdwt hwdwp junwpynn
poinp y&wpubkpp” Yptighnh dugp gnudwpp b jpinhnwdnpdwt puphwing swpuuh dbe
utpunynn J&wpnidutpp (nnnuwugnidwputipnp b wy) Jfwpnidnkp).

2.2. «Uy YEupnuditp»” wy) y&wpnidubiph dke pungplynng wwwuppbpp vwhdwijus
Et unyt juintwlwpgh 4-pn Yhnnwd:

2.3. <Uptinhnuynpiwi pughwnip Swhu» pninp innuwgnidwpbpt n wy
Jdwpnidutipp, npnup vywnnnp yupunwynp E Jdwunpt) (quunwpk)) Ypighnwdnpdw
(Yptghnh vnwgdwt b gnpdnnnipju pupwugpnid) hwdwp:

2.4. «Smphljui thuunwugh nnlnuwnpnyp»  uyuennh Ypkghunwdnpdwl
punhwiinip swpiup’ wpnwhwynduws npudungpjus Ypinhnh wupku nnnunyg b
hwouplyfws hhdp punniiikyny unyyb jubnbwlupgh 3-py Yhnnid todws pulwdlp:
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3. Putljtipp, onmwpbpypu pwttiph dwubtwdnintpp, Jupluht
juquulEpynipjniutpp b gpuyjunbtpp hpktg Ynndhg mpudwunpus jud
npudwnpybihp Ypknhnutph gphdwug hwyduplniud b muptljut huunwgh



unnuunpnyp hhup pgniikym] Opkiph 13-pyy hnpjwsny npdws nwpkljwb
thwunwgh nninuwnpnyph hwpqupliwb putwdlip

K
A Z 365
7 (1)

npukn

3.1, i - mupkjut hwunwgh nnlnuwunpnypt £, npp hwdwdwy Opkuph 2-py
hnyJwsh 5-py b 7-py dwubph, vywennh Ypghnwdnpdwt pughwingp Swhub k,
wpunuwhuwynjuws npudwunpdus Ypinhnh mwupbjut nnlnuny, b npb hp ke
wupniuwlnud £ pnjnp ninlnuibpt nt wy) J&wpnidukpp, npnup uywnennp yupunwynp
E Jdwpk] YpEinhnh vnwgdwi, htiyybu twb npu gnpdnnnipjui nne ptipwgpnid:

3.2. A - uywnnnhtt mpudwnpynn Ypknhnh ujqpiruljub gnidwpt k:

Unptghnwnpdut gqujdwbwgnny Yptnhnh wpwygbjugny vwhdwbwswthp
unwhdwtdws sihuknt phypnid npudwnpdws Yptinhnh wnwybjugnyu swthp Uk
Uhihnt gpud E:

3.3. n - uywnnnh Ynnuhg Yptnhnh dwpdwit nignus (Yptnhnh duyp gnidwp,
unnlnuugnidwpubp b(fud) wy J§wpmdubph gnidwputp) ydwuph (bhpunju) Yptnhunh
unwugdwt ywwhht junwpynn ygdwuph) hippujut hwdwnt E: Cun npnud, kY opdu
npupwugpnid Yptnhunh duyp gnidwiph, mnnuwgnidwptph b(ud) wy Jdwpmdubph
Juwnwpnudp hwdwpynud £ dkY Jdwpnud:

3.4. N - hntighnh dwupdwip (Ypinghnh duyp gnudwp, nnlnuugnidwpibp b(fud)
wy] Ydwpnidubiph gnidwputp) ninndws Jipghtt y&wph hwdwpi £ tbpunju) bub
ynptnhnh unugdwt yuwhht junwpynn ydwpp, nphg hinnn uyyunennh Ynnuhg
Ynptnhunnuyhtt wuydwbwgpny wvnwbdws ywpunwynpnipniubbpp hwdwpynud G
dwpws: Ophtwly Ypbnhnp npudunpt) 12 wdund, Ypkghuh dugp gnudwph o
nnnuugniduptbph wdtbudyw vhwdudwuwl dwpnidubph guydwiung b Ypkghwnp
npudwunpiu ywwhht twpwnbuynn wy] ywpnidutpny, htnbwpwp N=13, pwth np
Ukl J&wpnud hpulubugdnud £ jpnhnh npudugpiui quhhb b bu 12-p° hodwdugh
Ynptnhunnuyhtt wuydwbwgph yuydwbbbph:

3.5. Kn - uyyunnnh Ynnuhg Yptnhinh vnwugdwt yuhh b(fud) Yptghunh
qnpénnnipjul pipugpnid junwpgws hppuljwb’ n-pn Jéwph gnudwpb E (Qugp
gnidwp, nnlnuugnidwpubp b (Qud) wy Jdwpnidukph gnidwputp):

Uju phiypnud, Epp Ypbinhnwuynpdut ywuwydwbtwgpny pnyjunpynud B inljnuitph
b (ud) uyupnnh YpEnhnwynpdw punhwinip Swhiuh ke ukpunynn wy) Jdmpukph
puwtwljh Jud swthh thnthnpunipinitukp, b htwpuwdnp sk wyn thnthnjunipynitubpht nuyg
gnidwpuyhtt wptnwhwjnnipnil, wyw nupkjut hwunwgh nnnuwunpnypp ywhwp |
hwoJupldh’ Gupwnnptiny, np innutpp b (ud) vyuennh Ypighunwynpdu
punhwnip Swjuuh dbe tkpwunynn wy Jdwpubpp dbwnt G uynit b jhpundbnt u



dhtist Ypbnhnwynpldwt yuydwbwgph gnpénnnipjut wjwpunp:

3.6. Dn - uy phyu k, npp gnyg £ wnwjhu, pk pwtth op £ wtghk) Ypknhnh vnwugdwi
ophg Uptish Ypknhwinh gnidwph hbppuljul’ n-py twpdwi opp thpunyuy:

Ophtwy Ypknhup npudwnpdty Eubupunbdpbph 15-ht, Ypkghunh npudugpdub
hwdwp Ypknhnh vnugdw ywhht btwpwnbugws Eu wyp Jdwpnwdukp, b Ypbnhnh
wnwohll dwubwlh dupnudp mnbinh E niukbwnt tnyt nwpydw hnljnbdptph 15-ht: Uju
ntypnid D,=0, putth np wy) J&wpnudukpp junwpybne bu Yptighnh uvinugdwi opp,
D.=30, pwh np Ypknhunh npudwnpnidhg dhtish hbppwljwt dupnidu ptljwsd opkiph
phyn 30 k, hulj D:-hg dhtsl D, pujws opkph phyp hwpduplynid £ iniyt uljqpniipny:

Gpt iptinhnuynplut wuwjdwbwgpny twhiwnbtudws b, np uygunennp Jupnn L
Ynptnhnh gnidupt vnwbuy dwu we dwu jud jupnn E pnpt YpEghnh gnidwpt
unnwbwnt ywwhp, wyw Ypinghnh vnwugdwi op E hwdwpynid Ypknhunwynpdut
wuwjdwbwghpp Yupkint opp:

4. Yptnhnwynpdwb punhwbnip Swhubph b, hEnbwpwp, mupkljub hwunwgh
wnnlnuwnpniph hwpduplh ke ukpwnynn wy Jdwpmdubpp thpuenid Eu uyunnnh
Ynnuhg Ypghnwynpdwt hwdwp yuwpunwnhp junwpdwt Eupwlju hbnbjug
J&wplkpp (ppuitig wnljuynipyui nhugpniud)’

1) ptnhnp dbwltpuyuwib J4wpp,

2) btwhuhunid unugws Ypknhnh dudjinwtg dwupmdubp nitbbuwne nhupnid
njw] Yptnhinwnpnnhg inp Ypnhnp dbwltpydwi J&wpp,

3) Untghnwynpdwt hwunwpnpeinh yunpuundwt Jdwunpp,

4) Yptnhunh vypwuwplyuwib J&wpp,

5) gpuyh dAbwltpydwt hwdwp Jgwpp,

6) yuquuwltpynipyniuubphty, dhnipgniubphtt jud wy) judpbiphtt wipwdwlglne
Jud pwdwunpyuqpybnt hwdwp twpwnbudws Jdwuputpp, Ept Yptghunwynpnnp
hwiunhuwinid E wyny juquulkpynmipniuutph, dhnipjniuubph jud wy) jodpbph
hhdtwnhpp jud dwutwlhgp, b Ypighnh gquydwbubpp jupudws Gu tdwt
winudwljgnidhg jud pudwiunpyugpnidhg.

Ophtwy pulyp hwyinwpupmy k jptnhinwghtt wwydwbwgph Juapdwb wpunbyug
wuydwtkp wyt wtdwig hwdwp, nyptp jhwunhuwtwt hp Ynnuhg hhdtwunpwus
Uhnipjut winwd: Uinudwlgnipjut hwdwp wwhwieynid E nnupbljut
winudwydwn: Yptknhwnh dudljtnh pipugpnid uywunnnh Ynnuhg ydwupytihp
wunuuwydup(ubp)h gnudwpp whwnp L ukpunygh nupkjut thuwunwgh
nnynuwnpniph hwpuplh Uy,

7) wmywhnjwgpmipjul, gowhwndwb b wy] odwlinul] swnwnipniuutph nhuiwg
Juwnwpynn ydwpubkpp, bpk wyn swpuynipiniiutnhg ogunybip hwinhuwinid k
ypknhnnuwynplwt wuydwbwghpp fupkint jud gnduqnynn mwpkljub thwunwgh
nnljnuunpnypp vnwbwnt twhruywydwi b wn Swnwnipjniittiph swhwnnit
hwiunhuwinud k §ptnhinwydnpnnp jud Ypighnwynpnnp vwhdwinid £ wjt wmtdwg
opowtiwlp, npnug hkwn uvywennt hpwyniup nih Yupk) odwinuly sSwnwynipjniiubph
dwnnigdwt ywuwjdwbwgpkn:



Ophtuulytkp

w. Futlp, npybku YpEnhunwynpdwt yuwydwuwghpp Juphnt twppwyuwydwd,
wuwhwiynid k gpujunpyué gnyph wywhnjugpnipinit’ hwinhuwbwny Jupynn
wywhnjugpnipjut ywuydwbwgnph pwhwnntl,

p. Puilp, nputu Yptnhnudnpldwt wuydwbwghpp Jupbnt twhuoyuydwl,
wwhwbtonid k gpujunpyus gniyph wyywhnyjwgpnipnil, hyybu b vwhdwinud k
wjut wmdwg opowtiwljp, npnuig htiwvn uvywpnn hpwyniup nith Yupky
wywhnjuqgpnipjut ywuydwbwghp,

q. Puiiljp, npytu gnuqmnn mwupkljui thwunwgh nnljnuwungpnipp unwbwnt
twhwyuwydwt, yuwhwienid E gpujunpdws gnyph wywhnjwgpnipni’
hwiunhuwtwny Jupynn wywhnjugpnipjut yuydwuwgph swhwnnii,

1. Putip, npytu gnjuqnynn nuptljubt hwunwgh nnjnuwnpnypp vnwbwne
twhwwyuwydwl, whwiend E gpudunpjus gnyph wyywhnyjwgpnipnil, hyybu bub
uwhdwinid £ wjtt mbdwtg opowtiwljp, npnig hbwn vyywnnn hpwyniup nith Yupky
wywhnjugpnipjut wuydwbwghp,

k. Putlp, npytu YpEinghnwynpdwt yuydwbwghpp Jupknt twpuwuwydwl,
wyuwhwiynd k gpujunpyué gnyph wywhnjugpnipinit’ hwinhuwbwny Jupynn
wywhnjugpnipjut wuydwbwgph pwhwnntl, hisybu twl vwhdwinud £ ugu
wdwtg opowtiwljp, npnug hkwn vywpnn hpwyniup nith Yuph] wywhnyjwgpnipjui
wuwjdwwghp,

q. Puwtlp, npuytu gnuqmpnn nwupkljut thwunwgh nnljnuwungpniypp unwbwnt
twhuwyuwydwl, yuwhwienid k gpujunpdus gnyph wywhnjwgpnipni’
hwiunhuwtwny Jupyny wywhnjugpujut wuydwbwgnph pwhwnntl, hisybu twl
uvwhdwunid £ wjtt mbdwtg opowimljp, npnig htn vyywnnnt hpuwyniup nih Yupky
wywhnJugpnipjut wuydwbwghp,

8) Untinhwnwynpdwt htinn juwJws wy Jdwpubpp, npnup uyupnnp yupwunuynp £
Juwnwnptk] Ypinhnwynpdwt hwdwp, pugupnipjudp Optuph 15-pn hngdwsh 1-hu
dwuny nwhdwijwé uywnnnh Ypnhnnunpdwt punhwinip swhiuh dke subpunynn
J&wputph:

5. Unyu juuntwlunpgh 3-py hwnnid tpdws pumttwdling hwpdupljdws nmwupkljut
thwunnwgh ninnuwunpnyph dkdnipiniup whwnp & §inpugut] wntduqt dhtsh vk
hwpmpkpnppuljubp b puquuyuinlt] 100-ny nnlnuwghl dkdnipinih unwbugn
hwdwp:

6. Untnhunnuwynplwt wuydwbwgpny Ypinhnh Jipunupddut dadwbuljugnyg
Juwd Ypbinhnwynpdwt yuydwbwqgph ppoypubpny JEpunupddwt dudljbnukp
unwhdwbgws sjhuknt nhypmd nupkljwut hwuwnwgh nnnuwnpnyph hwpguplnid
yptknphnh JEpunupddwt dudljbn £ hwudwupdnud kY mupht: Uyt giwypnud, Epp
ypknhnuynplwt wuydwbwghpp vwhdwbnd E Ypinhnh yepunupddwi dklhg
wybh dudjEnukp, wmyw Yptnhnh Jkpunupdh dudjtin Ehudwpynid
ynptnhnuynplwt ywuydwbwgpny vwhdwitjws wdkuwonin dudljtwnp, tph wy) put
twhwntu]uws sk Ypinhnwynpdwt gquydwbwgnpny:
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7. «Mupq Jupybp».

7.1. Bupunphip npudwnpyly b uyupnquljub Jupl htnbjw) wujdwbibpny

e Spulfwnpynn gnidwp 500 000 npud

o Uljwiuljwl nupklul winnuwnpnyp 10% hwouplpfws Juplh ifwgnn
Utwgnpnh Jpw

e Uwpdwl dwdljtin’ 1 wuph (365 op)

e Uj| y&wupnidubp sfuit:

7.2. Ophtwy 1.1° «Nupq Jupl) - mduwlwt hwjuuwpwywih Jdupnidutpng».
npudunpus Jupyh gquydwbubpp hwdwywnwupiwiinod Gu 7.1 YEnhi, huy
dwpmditpp wikiutym huuwuwpusuth dupnudibp Bo (Gugp gnodwp b
unlnultkpp dhwuhb inyt gnudwiph b jnupupuiiggnip dupdwi dudwbuly), hbnbwpup
N=12:

Bty Ykpnbojuy ophtiwulh wuydwbikphg junwiwbp quplh dwupnidubph
htnlywy gpupplyp.

Uunwugnidhg dhtish Uwpdwt
Uwpnidubph hbEppulju Uuipinn Yuin htEppuljut
. wnnljnuw- gniudwph
wdwhwlwiunipnit N dwpnid puljus npunhwinip
. gnudwpubp | dwpnudubp .
optph phyp Dn Ydwp_ Kn
1 30 4167 39791 43958
2 61 3835 40123 43958
3 92 3501 40457 43958
4 120 3164 40794 43958
5 151 2824 41134 43958
6 181 2481 41477 43958
7 212 2135 41823 43958
8 242 1787 42171 43958
9 273 1435 42523 43958
10 304 1081 42877 43958
11 334 724 43234 43958
12 365 363 43595 43958
Cunudkup 27495 500 000 527495

Niukbwny pnpnp withpudhon Ukdnipniikpp b oqunytiny Opkuph putiwdlihg
hwpuynp £ unwbw) nwwpkljub huunwugh winnuwngpnypp

500000= 43958 + 43958 + 43958 +...+ 43958




30 61 92 365
365 365 365 365

() (1+i)

npunknhg
i=0.105067*100=10.51%

7.3. Ophtwy 1.2° «Nupq Juplj - mduwfui ny hwjwuwpwswth Jaupnidabpny».
npudunpus Jupyh wquydwbubpp hwdwywnwupwinod Gu 7.1 YEnhib, huly
dwpnidubpp (Kn) wthwjuwuwpuswth b (Uwyp gnudwpp hwuwuwpwswih k vwljuyg
unlnutbpp wthwjwuwpuwswih b pusudws pun wdhuubph):

Uju nypnid junwbwp quplh dwpnidubph hbnbyw qpubhlyp.

Uunwugnidhg dhuish Uwpdwi
e htippuljut Uwpynn Yuip htEppuljut
hwgwhuiwlw- gniudwph
. dupnudt ptljws | mnlnuwgnidwpubp npunhwnip
unipjnit’ n . dwpnidubp .
optph phyp” Dn Ydup Kn
1 30 4167 41667 45833
2 61 3819 41667 45486
3 92 3472 41667 45139
4 120 3125 41667 44792
5 151 2778 41667 44444
6 181 2431 41667 44097
7 212 2083 41667 43750
8 242 1736 41667 43403
9 273 1389 41667 43056
10 304 1042 41667 42708
11 334 694 41667 42361
12 365 347 41667 42014
Cunudkup 27083 500000 527083

Miikbiwny popnp withpudhon Uksmpniibkpp b oquntyny Opkliph putwdlihg
hiwpunp E unwbug nupbljut ruuinwugh winnuwngpnipp
45833 45486 45139 42014

30 61 92 365
500000= 35+ w5+ 354+ 365

1+)  (1+H)  (1+) (1+i)

npunkinhg
i=0.105071*100=10.51%



7.4. Ophuwy 1.3" «Mwpq Jupl - trwdujuljuyhtt hwjwuwpwswh Jfwpnidubpny».
npudwunpjus Jupyh wquydwbubpp hwdwywnwupwinud u 7.1 YEnhb, hull Jupyh
dwpnudubph hwwjuwljuunipniup tpuwduyyuyuyht E, dupmdutpp” hwjuwuwpusw:

Uju niyypnid Junwbwip quplh dwpnudubph hbnbyw qpudhlp.

dwi
Uwipnudibph Uunwugniuhg dhtish Uup Uwpdw
htppuljuu Uwpynn htEppwuljuu
hwdwuw- gnudwph
Yubimpnit n dwpnudt ptué | tinnuwgnidwpbp dwpnudikp punhwnip
) opkph phyp” Dn J&wp” Kn
1 92 12500 120409 132909
2 181 9490 123419 132909
3 273 6404 126505 132909
4 365 3242 129667 132909
Cunudkup 31636 500 000 531636

Niikbuny pnpnp withpudhon Ukdnipniikpp b oqunytiny Opkph putwdlihg
hirupunjnp £ unwbug nupkljub ruuinugh winljnuwungpoypp
132909 132909 132909 132909

92 181 213 365
500000= 365 + 365 + 365 +. + 365

(1+i) (1+i) (1+i) (1+i)

npuknhg
i=0.103992*100=10.40%

7.5. Opptimy 1.4° «Mwupq Jupy - towduywljuypt np hwjuwuwpuswh
Jdwpnudubpny». mpudwunpjws Jupyh yguydwbubpp hwdwywnwupwind Eu 7.1
Jtwnht, hull dwpnudubpp (Kn) wthwjwuwpuwswih b (duygp gonudwpp hwjuuwpuswih
E, vwjuyt nnlnuttkpp wthwjwuwpwswh b pushidws pun wdhutph) b dupdwi
hwdwhiwljwiunipniup Epwduyuljuyght k:

Uju nhygpnid dwpnidubph gpubhlyp htwnlyuyh £

Uwpnidubph Unugniihg uhtsh Uwpynn Uwyjn Vwpiwl
htippuljuwt dwpnudp hippuljui
hwdwpw- s onbph philp’ wnnljnuwgnt- gnidwunph nihuwinip
: puywe optpp ppyp
Julnipni n D dwpubp dwupnudubp & Kn
1 92 12500 125000 137500
2 181 9375 125000 134375

3 273 6250 125000 131250



4 365 3125 125000 128125
Cunwdkup 31250 500000 531250

Niikbuny popnp withpudhon Uksnpniiibkpp b oquntyny Opkliph putwdlihg
hiupunnp £ unwbug nwpbljub ruuinugh ninlnuwngpoypp
137500 134375 131250 128125

92 181 213 365
500000= 365 + 365 + 365 +. + 365

(1+i) (1+i) (1+i) (1+i)

npunknhg
i=0103992*100=10.40%

7.6. Ophtwy 1.5° «Nupq Jupl - mnnuugqmiwph vhwiduq Jdupdwudp».
npudunpus Jupyh wquydwbtbpp hwdwywnwuhiwind u 7.1 YEnhi, huy
nnnuugnidwpp wdpnnontpjudp J&wpynid E uplh dwupdwit ninnus duygp
gnidwph wpweht ydwph htwn:

Uju niyypnid junwbwbip quplh dwpnudubph hbnbyw qpudhlp.

Uwipnudbph Uunwugniuhg dhtish Uup Uwpdwt
htppulju Uwpynn htppulju
hwdwhiwlw- gnudwph
. dupnudt ptljws | mnlnuwgnidwpubp npunhwinip
unipjni n . dwpnudubp .
optph phyp” Dn Ydwp Kn
1 30 27083 41667 68750
2 61 41667 41667
3 92 41667 41667
4 120 41667 41667
5 151 41667 41667
6 181 41667 41667
7 212 41667 41667
8 242 41667 41667
9 273 41667 41667
10 304 41667 41667
11 334 41667 41667
12 365 41667 41667
Cunudbkup 27083 500 000 527083

Niikbwny pnpnp withpudhon Ukdnipniukpp b oqunytiny Opkph putiwdlihg
htiwpunp Eunwbu) nupbub huunwgh innlnuwnpngpp’



68750 41667 41667 41667
30 61 92 365
500000= 365 + 365 + 365 +.. .+ 365

(W) @) @H) ()  npuiknhg

i=0.108551*100=10.86%

8. Ophtwly 2. «Jwpl vhwiugwq wy) Jdmpnidubpny Juplh vinugdw wwhhbi»

8.1. Bupunptup nmpudwnnpyt] £ uyuenquljut upl hknbyuw) yuydwuubpny.

e Spwdwnpnn gnidwp 500 000 npud

e Uljwiwlwb nwpbut wnjnuunpnyp 10% hwoquplydws quplyh ifugnn
Utwgnpnh pw

e Uupuwl dundljnn’ 1 nuph (365 op)

e Uwpnidlitp wdbkwduyw hujwuwpuswih dwpnidibp (Gwgp gnidwpp b
wunlinuttpp dhwuht tnyt gnidwpb | jnupupwignip wdhu)

e Uwuwnnnh Ynnquhg Juphh uinugudwh opp unnwpnn wy J&wpnudinkp'

> duunwpnphph wunpuundw hudwp thwigug Jgwp 5000 npund

> Jwplh uyuuwpuut hudwp dhwijug &wp 1000 npud:

8.2. NMuydwuttphg unnwgynid £, np N=13, nphg Ukl Jwpnidp Yptnhnh unnugdu
wwhhi &wpt kb djnie 12-p duyp gnidwph b innlnubbph gwpnudibkph b

8.3. Upknhinh unuguwi yuhh juwnwpdnn wy Jdwpmdbpp (K) vnwug]nid £

K. =5000+1000=6000

8.4. Muktwny pnjnp wmuhpwdton Ukdnipjniuitpp bk oqunytjny Onpkuph
putwdlhg htwpudnp | unwbug nupkjwi raunugh winnuwngpngpp

6000 43958 43958 43958
0 30 61 365
500000= 365 + 365 + 365 +.. .+ 365

(1+)  (+)  (+) (1+i) nputnhg

43958 43958 43958
30 6L 365

500000-6000= 365 + 365 4+, + 365
(1+1) (1+i) (1+i)

npunknhg’
i=0.130490*100=13.05%
9. Opphtiwy 3. «quply” wy hnhnjpwljwi Jdwpniditpny Jupyh vyuuupdui

npupwugpniu»
9.1. Bupwnptup dknp k pipyt) Jupl wwnndbpbuw dbnp phpkint btyuwnwlny b



htnlyuy wuylwhibpny]

e Spudwnpynn gnidwp 3 dhihnt npud

o Uljwiuljwh nupklul winnuunpnyp 10% hwouplyfws Juplh ifwgnn
Utwgnpnh Jpw ‘

e Uwipdwl dwdljinn 2 mwph (730 op)

e Uwpnudlihp wlbtwduyu wthw]wuwpuswt dwpnudikp (Wagp gnidwpp b
wnnlnutkpp dhwuht)

e Uyquinnnh Ynnuhg funupdnn wy) J&wpnidkp

> Uduindbpbliugh giwhwindwl dhwigwug 4w quplh uinugdwhb wywhhi'® 15 000
npuad,

> Juplh uyuuwpuu dhwiwg Jwp Jupih vnwgdwi yuhhl' 3000 ppud,

> duunupnphph wunpuundu thuijug éwp Juplh vinwgdwb wuhhi' 5000
npud,

» dunplh duyp gnudwph b nnjnuugnidwpubph wdktwduyw dupnudutph htin
dklwntn 1000 npudh swthny juwnwpynn Jupyh vyguuwpydwi Jwp (punhwing
24000 npud)

o Uyuhnjuqpuiljuh nupbljui gwp” dkphiugh wpdbph 2.5%-h swtnd, nphg Ukl
Jdwpp

(3000 000 * 0.025=75000 npud) Yuwnwpynid L Juplh unnugdwt opp, hulj Uniu
Jdwpp (Ukpkuwgh dwpduspp hwoyh wnws wpdtpp™ 2 700 000 npwd * 0.025 = 67500
npuy) juwnwpynud L hwenpry wwwph™ n=14-p dwpdwp hwenpnnn 10-pn opp:

9.2. Bty 9.1 Yhwnnud ipgws wuypdwikphg junwbwbp Juplh dupnudibph
htnljw) gpubhlyp.

Uwpnufbph Uwnwugnidhg dhtsh Uapidnn Uup Uwipdwt
htppulwuu Ug htppuluu
hwdwhiwuljw- wunlnuwgni- | gnudwph
o e e e S e e B s
optpp phyp Dn Yéup Kn
1 0 98000 98000
2 30 1000 25000 125000 151000
3 61 1000 23958 125000 149958
4 92 1000 22917 125000 148917
5 120 1000 21875 125000 147875
6 151 1000 20833 125000 146833
7 181 1000 19792 125000 145792
8 212 1000 18750 125000 144750
9 242 1000 17708 125000 143708
10 273 1000 16667 125000 142667
11 304 1000 15625 125000 141625
12 334 1000 14583 125000 140583
13 365 1000 13542 125000 139542
14 395 1000 12500 125000 138500



15 405 67500 67500

16 426 1000 11458 125000 137458
17 457 1000 10417 125000 136417
18 485 1000 9375 125000 135375
19 516 1000 8333 125000 134333
20 546 1000 7292 125000 133292
21 577 1000 6250 125000 132250
22 607 1000 5208 125000 131208
23 638 1000 4167 125000 130167
24 669 1000 3125 125000 129125
25 699 1000 2083 125000 128083
26 730 1000 1042 125000 127083
Cunudklp 189500 312500 500000 3502000

9.3. Muydwuttphg unnwgynid £, np N=26, nphg Ukl Jwpnidp Yptnhnh unnugdu
wwhhb dwnt k, dEhp Eplpnpny nupjuw wywhndugpujut ydwpp, hul dbwgus 24-

n Uduyp gnudwph, vinnuukph b qupyh vyguwuwpdwt pipwugpnid juwnwpynn wyg
J&wpnidubpb ki, npnip twppwnbugws bt dhwdudwuwl junwpl] wdkt wdhu:
9.4. Uptnhnh wnuguwh wwhhi junup]nn wy) Jupmdibpp (K) wnwgnud B

K1=15000+3000+5000+75000=98000

9.5. ﬂthhmlnq pninp wiuhpwudbon dkdnipjnitutpp b oquykiny Ophhpb
puwbwdlihg htwpunp Eunwbuy nupbljut hwunwgh innlnuwnpnygpp’
98000 151000 149958 148875 127042

0 30 6L 92 730
3000000= 365 + 365 + 365 + 365, + 365

@L+)  (@+H)  @+H)  @+H) (1) , npuiknhg’

151000 149958 148875 127042
30 61 92 730

3000000-98000= 365 + 365 + 365 +...+ 365
(a+i) (a+i) (1+i) (a+i)

npunknhg
i=0.151899*100=15.19%

10. Ophtwly 5. «Ywpdwdwdltn Jupy»

10.1. Bupwunptup Juhniph qudwt hwdwp uinwugyt] L uygqunnpujut Jupl
htnlyu) wuydwiibpn]

e Spufwnpynn gnidwp 800 000 npud

e Uijuwbwjut nupkljwut nnjnuwunpnypp 10%, Epk uyuwnpnnp hwinhuwind



ynpknhwnnwynpnnh Ynnuhg hhdttwnpws «Gwhniypugnpsubtph dhnipjuty winwd, b 25%,
tpt uywnnnp sh hwtnhuwinid wyn Jhnipjut wunud

o Uwpdwl dwdjlin’ 9 wlhu (273 op)

e Uwpnullibp bnwdyywlughl hujwuwpuswg twpmudibp (Wayp gnidwp b
wunlnuttpp dhwuht jnipupwignip Epwduyyuly tnyt gnidwp Bu juqunid)

e Uwuwnnnh §nnuhg juwnwpynn dhwiguq Jdwpubpp quplh vnwugdwi
dulwbiuly

> Quunwpnrbph yunpuundw Jgup 3000 gpud

> duplh vywuwpldw Jgwp’ 2000 gpud

» «Quwhniypugnpsutph vhnipjuip» winudwlgtint vhwiudwq Jd&wp quplh
unwuglul wuthhl

20000* %—15000 npud, npnkn 9-p Juplh mbnngnipiniub k:

e Junpljwnnit hwinhuwunid t «Ywhniypugnpsutiph dhnipjuty wunud:

10.2. Muydwbtbphg unnwugynid k, np N=4, nphg Ukl Jd&wpnudp Ypknhnh unugdw
wuwhht Jdwupt kb dpniu 3-p° dwyp gnidwph b vinnutbph tpwduyjujuyhtt Jguputp
ku:

10.3. Upkinhinh unuguwi yuhh junwpdnn wy Jfwpodikpp (Ki) winugynid £

Ki = 3000+2000+15000=20000

10.4. ﬂthhmlnq pninp wiuhpwudbon dkdnipjnitutpp b oquybiny Ophhph
puwbwalihg htwpunp Eunwbu nupblut hwunwgh nnlnuunpnygpp’

20000 280110 280110 280110
0 92 181 273
800000= 365 + 365 + 365 + 365

(1+)  (A+)  (A+H) (1+i) , npuntinhg

280110 280110 280110
92 181 273

800000-20000= 35+ 365 4.4+ 365
1+)  (1+i) (1+) b

npunkinhg
i=0.161760*100=16.18%:



